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*The Exam in one page *Books & notes not allowed

* Any missing data could be reasonably assumed

Solve All Questions:

I- The charge flowing in a wire is plotted in Fig. 1. Sketch the corresponding current.
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2- Complete the following sentences
a. A short circuit is a circuit element with resistance approaching

b. An open circuit is a circuit element with resistance approaching
3- A resistor absorbs an instantaneous power of 20 Cos® t mW when connected to a

voltage source v = 10 cos t V. Find i(t) and R. (3 marks)
4- Find the voltages at the three nonreference nodes in the circuit of Fig. 2. (3 marks)

5- Find i, in the circuit shown in Fig. 3. (4 marks)

6- Obtain the Thevenin equivalent of the circuit in Fig. 4. (4 marks)
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Best wishes of success
Dr. Bedir yousif
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